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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 #F=r & 71§ woT S (Problem figure) f&T a1T =T 30aT fredt (Answer .
. . . . Question ID : 9864493731
figures) & falt e # wieafgd &1 sa=y & weaT T (Problem figure) L 1 P
; . ?‘fl' Eé' %’| atus : Answere
’ Chosen Option : 4
Problem Figure
Answer Figures

okl

A B C D
The below problem figure is embedded in one of the four answer figures. Which of the
following figures contain the problem figure?

Problem Figure

1T

Answer Figures

O,

A B C D
Ans «TD

X 2B

X3 A

X4C

N

Q2 23-[24-{25- (26-27—28)})] =7 Question D : 9864492659

Status : Answered

23 - [24-{25- (26- 27 —28)}] =7 Chosen Option :3

Ans x1_1
X2-3
v -1
X4 -2

Q.3
Question ID : 9864494205

Status : Answered
Chosen Option : 2




S — e S

T B

Select the missing term based on the given related pair.

T e B

Ans X 1. Child
' 2. caterpillar
& 3. Kitten
< 4 Larva

Q4 gfE tan*6 + tan?6 = 2 B @ sec*d - sec?f =?
If tan*@ + tan®# = 2, then sec*d - sec?8 =7
Ans «'1_ 2
x 21
<30
K43

Question ID : 9864492937
Status : Not Answered
Chosen Option : --

Q.5 69 @ UfRr sua T wgEr F 1:2 # Tentag fr a8l wgET F e ufEr

A sum of ¥ 69 was divided between Jason and Ruhana in the ratio 1 : 2. How much money
did Ruhana get?

Ans X 1. T 40
X2 %45
X 3.%23
V' T46

Question ID : 9864492645
Status : Answered
Chosen Option : 4

Q.6 T &1 & ;M@ AT =9 & 98 SateT & &

L=, TsfT, el
‘Which of the following Venn diagrams correctly represents the following classes:

Eagle, bird, cat
Ans

F !

x2((0)

Question ID : 9864493735
Status : Answered
Chosen Option : 4
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Q7 37 W& @ag & 994 B, S FeAA@T 3 3G F Rl ¥ Question ID : 9864494235

Status : Answered

c.n.’ Chosen Option : 2

Select the correct set that represents the following Venn diagram.

w0, R o
Music, sports, educated people
<, AT ferares, ame
Dancers, teacher. cows
v . Oar, aREr
Mother. father. family

Cat, toys, girl

x

Q.8 wumsd AEr 7 1. TS 3w FAH & W T F AT 3

Y . Question ID : 9864492371
TRTA FANF # R §, 36 3¢ Fi W1 36T IF qo0d gU e
1 y Status : Not Answered

The statue of Dr APT Abdul Kalam that was unveiled at his Rameswaram memorial by Chosen Option : -

Prime Minister Modi depicts him playing which musical instrument?

Ans REEL

1.
Tabla
: ?
Mridangam
X3 T fore
Violin
drom

Veena

K2

o 4

Q9 =3t ¥ 0 O s S Wehar § 3T T & A I S A 32
‘Which of the following can neither be created nor be destroyed?

Question ID : 9864493601
Status : Answered

Ans PR
x n TI'E—T Chosen Option : 3

Momentum

V2 FaAT
Energy

X 5 A
Power

T

4,
Velocity
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Q.10 3y =g ‘MEAT & et w=¢ (FFen) & W%ng( Oﬂ VEELQb

(FHEE) F I TUEET F ReT R T T R A S W T o
ﬁmaﬁﬁﬁﬁu@mmﬁﬁamﬁﬁmmmmgv
T HER e fhae it eeg ST ST Ee £7

If each of the vowels in the word ‘MEAT’ is kept unchanged and each of the consonants is
replaced by the previous letter in the English alphabet, how many four-lettered meaningful
words can be formed with the new letters, using each letter only once in each word?

Ans x1_1
X 24
v 3
x4 2

Question ID : 9864493940
Status : Answered
Chosen Option :2

N oiter 1 TEREREE 9F FiT @ E

The chemical formula of Propane 1s:
Ans X 1. Cy Hg
v 2. CyHg
/&< 3. CH,
& 4. CyHyq

Question ID : 9864493192
Status : Answered
Chosen Option : 4

Q12 & % gaftg I F 3R W NEa o 83

GULF : 519104 :: WINE :
Fill in the blank based on the given related pair.

GULF : 519104 :: WINE :
Ans 1. 217321
V2217123
/< 3.217132
X< 4217124

Question ID : 9864494015
Status : Answered
Chosen Option : 4

Q.13 T & A ST & Hade & 39T 3= 3T 3ard Rew=l & & o T F
g S T

‘Which of the following indicators CANNOT be used for distinguishing between acidic
and neutral solutions?

Ans 1 s sfashe

Universal indicator

PrererwafeeT
' Phenolphthalein
. s 3=
Methyl orange
, F3iTae

Fosin

W2

x

Question ID : 9864493570

Status : Not Answered

Chosen Option : --

Question ID : 9864494119
Status : Answered
Chosen Option : 4
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TRt # ¥ FiF g RS 8

A/

TR F AT &6 F B @rer F & 91 st & e ot i e
Fr A T B

TEIROTH:
1. wg e §
2. BT =Et & R ameior aet & welt w Sgew wareew gher Bl

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

The government had planned to conduct special recruitment drives for doctors twice a
year for rural districts.

Assumptions:

1. There are more vacancies.
2. The government wants the rural people to get good health care.

Ane x1mq§m1mr—cﬁ%ﬁ%l

Only assumption 1 is implicit.

<2
a1 & @R 1 3 A & @R 2 seataea @

Neither 1 nor 2 is implicit.

s IR 2 s
Only assumption 2 is implicit.

2 T st #

Both 1 and 2 are implicit.

v

x

Q.15 T BIET T SIET TEAT AT I f5R- 20, 25, 35 0T 40 F TN e 9K AW Fazr
14,19, 29 3 34 TgaT Bl

Find the least number which when divided by 20, 25, 35 and 40 leaves remainder 14, 19,
29 and 34 respectively?

Ans - < 1. 1364
X< 21384
X 31374
v 41394

Question ID : 9864492443
Status : Not Answered
Chosen Option : --

Q16 rfaf@a wua 1 Fate 39gFd f@%eT & a1 qor &

T SIAR FT R & v 2T g

Complete the following sentence with the most appropriate option.

A disease always has

Ans SICIYL
F ! 3
germs
v ) PIOT
d cause

Question ID : 9864494053
Status : Answered
Chosen Option : 3




EEEIn
a cure

X 3.

W

X4 CETe)
a doctor
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Q.17 &y ot cageen & frger 00 3R § S+ 3% 1gor v O ¥ 3T 3=
g # TF MET 7

Q@A3RI4+6T4W402"°E$6S

How many such numbers are present in the below arrangement which are immediately
preceded by a consonant and immediately followed by a letter?

Q@A3RI4*6TAW402°E$6S
Ans
v ar
Two

X2 TR
One

X

Four

arer
Three

X4

Question ID : 9864493722
Status : Not Answered
Chosen Option : --

Q18 RY & afdher U3 A & 0T & 39ANET FoRaT ST gl
The characteristic of is used in the breaking pads of cars.

1a&wwmm

positive effect of friction

| ENOT & T T

Ans

v

x

zero effect of friction
| I IS 9 JA1T B fRar
weight impulse force tension action
, EINOT T FhRIcHS THTT

negative effect of friction

x

x

Question ID : 9864493620
Status : Answered
Chosen Option : 3

Q.19 freet 7 v @fFaa aifd ¥ 120 frades $r gt & amr afre & 61 3k
g & g¢ 2 freider 9 71ty & oefe goar ¥ 3% e saew O
qger 3 g ANE FHT e e o aredd # asfee fhae
Taitder ufa g & 7fy & =ems?

Kishan cycled a distance of 120 km at a certain speed. If he cycled 2 ki slower every
hour, he would have taken 3 more hours to reach his destination. What is the speed in
kmv/h at which Kishan actually cycled?

ans X112
V210
X8
X415

Question ID : 9864492951
Status : Not Answered
Chosen Option : --

Q.20

Question ID : 9864494234
Status : Answered
Chosen Option : 4




Ans

mﬁﬁ;ﬁmﬁﬁﬁ#mﬁm&mg%%salert'ln

t, 37 ReeT &1 99= HL S B3 C F Ry aiv ma Rew (7) #F 96 @har
gl

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

o

A B C
X137
X 2115
X5 26
V36

Q.21

Ans

FTOeHt Wpfa F Ear 87
is amphoteric in nature.
v 1. Zno
< 2.N,0
# 3. Ca0
< 4.50,

Question ID : 9864493488
Status : Not Answered
Chosen Option : --

Q.22 foefr WAEGE & Tode [N &1 TS 26 Hed R e Rt #r w14

Ans

FIeT 3 THEGES T SE T 42

The length of each side of a rhombus is 25 m and the length of one of its diagonals is 14
m. Find the area of the rhombus.

v 336 T Hrex
336 m?
350 F@T Hrex
350 m?
175 T e
175 m?
168 TT Hrex
168 m?

X2

X 3.

< 4

Question ID : 9864492814
Status : Not Answered
Chosen Option : --

Q.23

Ans

25-2{5+4— (3+2-1+3)}=2

25-2(5+4—(3+2-1+3)}=?

X122
< 221
X 323
V24

Question ID : 9864492619
Status : Answered
Chosen Option :2

Q24 ofy U, v wmair E Vv odw, X g g, v, X w Ay gy,

‘U gl
If “U” is the husband of “V*, V" and ‘W are daughters of ‘X", “Y" is the husband of ‘X",
then “Y” is the of “U".

Question ID : 9864493641
Status : Not Answered
Chosen Option : --




Ans x1_ a:né.

Brother
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Q.25 ooy 3 @ 50 oTg T I1%; EART ATERT F FIET AGH S FehaT g 2
Which of the following metals CANNOT be easily cut with a knife?

Ans  wegHIETH
1. 2
Aluminium
lezﬂﬁm:r
Lithium
x&q’le‘r'fhm

Potassium

x4.;th%2m

Sodium

Question ID : 9864493231
Status : Answered
Chosen Option : 4

Q.26 fe; ot g aa@mT T 1 915 g T 8, A g T aweae fahder g ?

If the distance travelled by an object is zero, then the displacement of the object:

Ans HATcHR
X
15 positive

| LT M FHAT g, 7+

may or may not be zero
T
v
is zero

HUMcHh

is negative

x

K4

Question ID : 9864493059
Status : Answered
Chosen Option :1

Q.27 Aiger 1 T=tel 40 Treltand § oor 57 10 @es & 50 @ifar =g war 3 oty
gl e #r Fere 15 $ERieT @ ot Age @ afea W 32
(g = 10 AT TN TFE)

Mohan, having a mass of 40 kg, runs up a staircase of 50 steps in 10 s. If the height of
each step is 15 cm, then what is his power?
(Take g = 10 m/s?)

Ans 1 400 49
400 W
72 300 =€
300 W
X s 200 =
200 W
, 100 a1
100 W

Question ID : 9864493483
Status : Answered
Chosen Option : 3
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What does the kinetic energy (KE) of a moving body depend upon?
Ans x aoteT 3R ST T
Weight and 1ts position

, GeAw 3

Mass and velocity
X 5 AT 3R T

Mass and acceleration

x4 GeaH 3R sadr e

Mass and its position

v

Status : Answered
Chosen Option : 3

Q.29 FfH st A % Heat F1 argae 0 5 ¥ Al TR F Aew A F AFT E T 4,200
T A ¢, A A T T AT AT T H)

The prices of chairs and tables are in the ratio of 9 : 5. If the chairs cost T 4200 more than
the tables, Find the price of the tables?(in T)

Ans X 1. 6730
W 2 5250
# 3.5000
& 46200

Question ID : 9864492585
Status : Not Answered
Chosen Option : --

Q.30 R 717 wed W eAEES AR Fi Ht 99 & gmer 3oR & F B
rafafag wuat & @ =iF oo B

FaT F favaer o1 A9l T &7
FU:

1. ¥Faer asfeRaT Aaais Berdr 21

2. T H 20 wEfEar s 15 W= §

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How many students in the class play Chess?

Statements:
1. Ounly girls play Chess.
2. There are 20 girls and 15 boys in the class.

Ans x1_aﬁ?ﬁw13ﬂ1m2qﬁi¥rﬂﬁ%

Neither statement 1 nor 2 is sufficient

K2
I FUF 2 TACT § TS FIT FUT 1 AqAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
v P 3T e 2 S AT §

Both statement 1 and 2 are sufficient

p 8
FaeT FUT 1 qACT § S Fad FUT 2 HIATT §

Statement 1 alone is sufficient while statement 2 alone is insufficient

Question ID : 9864493728
Status : Answered
Chosen Option : 2

Q31 el T gU @Y A5 & R R #r FSr @ 32
‘What is the type of Energy possessed by a stretched rubber band?

Ane 1 TEEfaR Fer
Chemical energy

Question ID : 9864493267
Status : Answered
Chosen Option :1




, Tt F
Kinetic energy
Rufas ==
K3
Potential energy

x
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Q.32 v 3ART F NS & T T F NS 337 915 7 FerweT 3 3EaHT FoTHAT: 60°
3 30° &1 afE sAma & =g 5 Mex &, & e Fr T wa Al

From the top of a building, the angles of elevation and depression of top and bottom of a
tower are 60°and 30° respectively. If the height of the building is 5m,then the height of the
tower is:

Ans X 1.104/3m
V2 20m
X s 5V3m
X 4 15m

Question ID : 9864492636
Status : Not Answered
Chosen Option : --

0% Aol #1 39gFd fakeT & @y 9 HY|

529 : 441 :: 961:
Complete the following with an appropriate option.

529 : 441 :: 961 :

Ans X1 835
X2 822
X 3814
v 841

Question ID : 9864494023
Status : Answered
Chosen Option : 4

Q.34 Wﬁmmm%mm?@ﬁ?%ﬁmm%

Some of the energy derived from the food we eat is stored in the form of:

Ans m
v &)

Glycogen

Question ID : 9864493216
Status : Answered
Chosen Option : 4

Q.35

Question ID : 9864493805
Status : Not Answered
Chosen Option : --




Ans

e 8 7 e 5 e 10 s o YA QQVEIQD S @lert.in

qffeT 3 T o arer o7t & 3 & fEEvr

FIART H H FH T FA UF T F T G aor et F G

gfaemE 2

TR

gt wfremst & e @y
arer Feanfiat #r g

HET

28

23

Fezmafr gleTm #F e
oftee T oiveT F o
ezt & = @

14

12

AeaEafery oftem F arw
oifered WA TdiaT H %

ezt & = wE

17

A=t afemat & o A
e et & o

=T

64

55

The table gives the details of the number of students in Class 10 section A and B who had
taken mid-term and final exams.
‘What is the pass percentage in at least one of the two exams for section A (approximately

or rounded)?

Result

Sec A

Sec B

Total number of students who
failed in both exams

28

23

Total number of students who
failed in mid-term but passed
in finals

14

12

Total number of students who
passed in mid-term but failed
in finals

17

Total number of students who
passed in both the exams

64

55

v 175
#< 280
x 365
X470

Q.36 2016 #, ®”T ¥F 3w BW @AW TF AW TG "THALNE. TEAFET
e fomam | 5w 3oag Hr facdw yfa Fw 2
In 2016, the State Bank of India launched a new product called ‘SBI Exclusif’. What is the

Ans

financial nature of this product?
X

Insurance

x

3ﬂ;rs|a"a?rr

| et ST At
Recurring Deposit Scheme

Wealth Management

X oa

::ﬁmﬁrtiaaﬁrﬁamr

Mutual Fund Offering

Question ID : 9864492428
Status : Answered
Chosen Option : 2

Q.37 =gt syur F unor ST et F v g AGS AT T JUET & T '

Ans

TREET I 9 H YN FET B

Which part of the female reproductive system prepares itself every month to receive and

nurture the growing child?

x
Ovary

1 s (Ovary)

Question ID : 9864493598
Status : Answered
Chosen Option :1




) OifFr (Vagina)
Vagina

s IsrerT Aar (Cervix)
Cervix

, e (Uterus)
Uterus

x

x

v
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Q.38 st & IR % wfaer = g, s 2V wwnfaa siaw o fer g

Ans

T % ATCUA ¥ Hi o gaE 1A §7

What will be the resistance of a wire across which, when 2V potential difference is
applied, 1A current flows through the wire?

(1.2 S
2 Ohms

, 0.02 3Ed

0.02 Ohms
20 HEH
20 Ohms
0.5 3EH
0.5 Ohms

x

K3

X4

Question ID : 9864493426
Status : Answered
Chosen Option : 4

Q.39

Ans

NI F ieT T AT T Brar 82
Which hormone is released from the testes?
v SFAIF

Testosterone

X 4
Thyroxin

Question ID : 9864493557
Status : Answered
Chosen Option :1

Q.40 T =T Tt W e Y AT ¥ gm = & Tt 7 T g @ froaw

Ans

FUH F TEEIT T G HFEIOT FIA E

T
o F9 Ax §, Wi Av a0w §1 $T a9w Fa

o

1. FoaaE Hd

2 FTFATE
Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the given statements.

Statements:
Some crows are peacocks, all peacocks are ducks. Some ducks are pigeons.

Conclusions:
1. Some ducks are crows.
2. Some pigeons are peacocks.

b

Question ID : 9864494374
Status : Answered
Chosen Option : 3




ar ¢ 1 = ar ag{%vgobsalert in

Either conclusion 1 or 2 follows.

Faer TSR 2 3TEROT FRT B

Only conclusion 2 follows.

arsr faswst 1 3R 2 FFEIoT FLa gl
Both conclusions 1 and 2 follow.

Faer sy 1 HFEIOT AT B

Only conclusion 1 follows.

<2

< 3.

W 4

Q.41 afy AB gdor § o fiw 7T IR 3coT fasedt (Answer figures) # @ oy & 7%
st 1 =@ g9 ofy T

Problem Figure

) |

Answer Figures

From the given four answer figures choose the correct mirror image of the below figure
when the mirror is on AB line.

Problem Figure A

2 E

Al B

Answer Figures

Ans «TD
X2C
X 3B
XA

Question ID : 9864493738
Status : Answered
Chosen Option : 3

Q.42 2016 # #Ha7 @1 & fren 9fag wrMe Fod MER & aafas Saa |
FrenfiT g7
Which 2016 Hindi film is based on the real life of the famous Phogat wrestling family?
A * + &
ne x Tl 912 © € ST
1.
Mangal Pandey : The Rising

Hodld
X2 2

Sultan
K3

Bodyguard
W 4 ;

Dangal

Question ID : 9864492143
Status : Answered
Chosen Option : 4

Q.43

Question ID : 9864492154
Status : Not Answered




AR A{e & T Al feAtaed # ¥ ﬁmm%%\éu&bﬁalert'lrlhosen Option : ==

HiT (dga) 82

India-born Satya Nadella is the Chief Executive Officer (CEO) of which of the following
companies?

Ans «1_a=rlsa~ﬁ'\q”m

Q.44 v FEEgdw o foree MUR $T e sHPr Fas & e g, F AT
TF e F ARAGH F T gl U a0 e F AT F AGIT F= 82

The volume of a right circular cone, whose radius of the base is same as its altitude, and
the volume of a sphere are equal. The ratio of the radius of the cone to the radius of the
sphere is:

Ans x1'ﬂ:l
<211
viaia:1
X 43/3:32

Question ID : 9864492694
Status : Answered
Chosen Option : 1

Q.45 fe gfaardi= @gue (k — 1)x% + kx + 1 7 e Q2 -3 §, 0 k 1 Hiel 21 g1
If one of the zeros of the quadratic polynomial (k — 1)x% + kx + 1 is -3 then the value of

Ans X1-

| w4 Wb ||
'"'|-n- bl S

Question ID : 9864492475
Status : Not Answered
Chosen Option : --

Q4e 7 SIF-U-Selgl I TATIST Fr o
founded Din-e- Ilahi.
Ans x . CIGER
Babur

<2 ©

Rahim
< 3. E
Aurangzeb
Hhe{

Akbar

v

Question ID : 9864492089
Status : Answered
Chosen Option : 4

Q.47 afg 17 A F92 FT AT T 772§, A Wi HIeY F92 1 7o (797 #) T Hiiee

If the cost of 17 m of cloth is T 77 g, Find its cost per meter (in rupees)?

Ans X1- 42
; 4
W2 4;

Question ID : 9864492502
Status : Answered
Chosen Option : 2




: 5
X372
, 5
X452
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Q.48

gr a=7 A3 B v Oy v @t & @ s o F ow &7 ¥l v Ty @t
ITEST & AT F & & 29 & g IfE ST B & 9g U EI AW A A9
&% F1 s #1198 o1 A § TRT A 3 Wl 3  fhee wwEw & q@
#T ZM?

Pipes A and B, when working together, can fill an empty tank in 8 hours. If B is stopped
after 2 hours, it will take a total of 11 hours to fill the tank. How long would it take A to
fill the empty tank alone?

Question ID : 9864492671
Status : Answered
Chosen Option : 3

Ans 1 13Er
13 hours
V> 12 8¢
12 hours
x s 16 T
16 hours
X 4 15 T
15 hours
Q.49 7 W s R F 3 B St R su A & St s

fafea @1

T

£foT SfiTereT & el TR F dohrel W & Tl et # e weaw
TF §E TEY T AR & E

HeIHT:

)

1. ofigeET T Todg a% S I T gl
2. Rt AR H9e a==t F TR ToAE & g o The ag A s

Consider the argument and decide which of the given assumptions is/are implicit

Argument:

‘With immediate effect, the government asked to shut down all the schools for one week in
the region due to severe cold wave.

Assumptions:

1. The cold wave may continue for one week.
2. Concerned parents may not allow their children to attend the school after one week
also.

x1_1aﬂ¢2a#‘rﬁr‘|“e?r%

Both 1 and 2 are implicit

xz_;ra’HsﬂT;r?rzﬁr%H%

Neither 1 nor 2 is implicit

Fae A 2 Afka €
3.

Only assumption 2 is implicit

4%3?434@?11?1%1%3%

Only assumption 1 is implicit

x

v

Question ID : 9864493847
Status : Not Answered
Chosen Option : --

Question ID : 9864492450
Status : Answered




o 1 4 5 H 240 Wﬁ@ﬂﬁﬂﬂ%l%%g%%%bﬁale rt I Qhosen Option : 2

gfer =T 1 F#T T A &, T 450 TreHiet 1 5l a2 FeT & T Kdan g9 o9l

A Car can cover 350km in 4 hours. If its speed is decreased by 12 % kmph. how much time
does the car take to cover a distance of 450km

Ans 5 He

Q.51 fora o w FaeT F 8% wier 9T T184  #F a=ml 38 5% ey wod FA
forw safter #r Bhae & a=er =TT ar?

Shiv sold a shirt for T184 at a loss of 8%. To make a profit of 5% he should have sold the
shirt for:

Ans X 1.Z 200
~< 2.3207.92
< 3.3197
v 4T210

Question ID :
Status :
Chosen Option :

9864492648
Not Answered

Q52 1 - 5 % 3T T GRIFCT H HU GRITAT AT Hehell 57
The ratio 1 : 5 can be expressed in decimal as:

Question ID :
Status :

9864492461
Answered

Chosen Option : 3

Ans X 1.0.02

<201

V302

X 405
R g L N\ T Question ID : 9864492638

Trer % ofew Reet & T @ gam & 307 & 7 @ feg #r s uestion ID :
- Status : Not Answered

e U WAEg T g

ABC is an equilateral triangle of side 6cm. If a circle of radius 1 cm is moving inside and

along the sides of the triangle, then the locus of the centre of the circle is an equilateral
triangle of side is:

Ans 1. (3+\f§) cm

2 (5—2ﬁ)cm
K3.5¢cm
2 4 4cm

Chosen Option :

Q.54 rdifaa St it eafaf@a 7 & fhw weg # W@ marg?
Amphibian plants are placed in which of the following groups?

Ans amr
r 0

Thallophyta
==

| Pteridophyta
[ErsRasrs)

| Gymnosperms

p

X3

Question ID : 9864493375

Status :

Not Answered

Chosen Option : --




SIATHIST

Bryophyta

W 4
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Q55 yryfere amaa aRolt #F o $ crar R yeR #r g g 2
How are elements arranged in the Modern Periodic Table?

Ans x1_
3T IIA] TEAT & TG HH A

In the increasing order of their Atomic Number

X2
SeTehl HTUTTae FedHTT & d3d &5 &

In the increasing order of their Molecular Mass

v 3T IIAY] FeTAT & TG HHA A
3.
In the increasing order of their Atomic Mass
X4
AT FeOAH TEA & ged HH &

In the increasing order of their Mass Number

Question ID : 9864493393
Status : Answered
Chosen Option : 2

Q.56 faet dor 7 wner st gl 6t F w400 B AR 7 R A O A o F
enfie &7 feam s, & orer i g¥ el # A I 506 g S B e A
gl 3 R &2

In a bag, the ratio of red balls to green balls is 4 : 9. If 7 more red balls are added to the
bag, the ratio of red balls to green balls will become 5 : 6. How many green balls are there
in the bag?

Ans x1.12
X 227
<39
v 418

Question ID : 9864492665
Status : Not Answered
Chosen Option : --

Q.57 w=d 2018 &, it 3w & = 9o e 9&. @y % a9 s
As of February 2018, who is the coach of Rio Olympics silver medal winner PV Sindhu?

Ans
X1 ICET-MC LA
Vikram Bisht
qolelT =g
v
Pullela Gopichand
5 3 193
Prakash Padukone
x 4, FEH 3elr
Akhtar Ali

Question ID : 9864492179
Status : Not Answered
Chosen Option : --

Q.58 FifszH T3 FElic & INA il T foF 6 F T FiT & T gedr 82
‘Which of the following gases is liberated when Sodium Hydrogen Carbonate is heated?

Ans v o] ISR
Carbon Dioxide

xgﬂé:rmﬂ’raq‘ia—'ﬂsg

Carbon Monoxide

Question ID : 9864493509
Status : Answered
Chosen Option : 2
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Q.59 v d@ H+20D T aFF § 1090 B A N sERH AT @S
grfr

A lens has a power + 2.0 D. The type of lens and its focal length will be

Ans 5 ; AT, 05 Hrex
concave, —0.5m
Joddl, — 0.5 AT
convex, — 0.5 m
3cdel, 0.5 Hiel
convex, 0.5 m
3T, 0.5 HieT

concave, 0.5 m

X2

W 3

< 4

Question ID : 9864493304
Status : Answered
Chosen Option : 1

Q60 frfafee ol # & i wog & fEl & wohed 37007 872

AN [
A B C D
Select the figure that does NOT belong in the following group.

Question ID : 9864494108
Status : Answered
Chosen Option : 1

Q.61 afy SPOON =r 313F PLATE, PLATE & 35T BOWL, BOWL & 3% GLASS
T GLASS @ 3% SPOON %, af u=ir d9sr & e &/ar 39der # «@r sar
T

If SPOON means PLATE, PLATE means BOWL, BOWL means GLASS and GLASS
means SPOON, then what is used to drink water?

ans 3¢ 1. PLATE
X 2 GLASS
v : SPOON
X + BOWL

Question ID : 9864494339
Status : Answered
Chosen Option : 2

Q62 = & erat A forwer Faw gEA @ F@ 87
‘Which of the following words does NOT belong with the others?

Ans I
X1 2
Shukra

Question ID : 9864494358
Status : Answered
Chosen Option :2
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Q.63 2017 F T g TR FT H AEE Fa F RS WG T Fr oA
‘Which Asian city hosted the 2017 Men’s Hockey Asia Cup?

Question ID : 9864492280
Status : Not Answered
Ans - Chosen Option : --

r 0 2
Singapore

Xz.m

Teheran

alehl
W 3
Dhaka

T
Tokyo

Q842017 & 'ﬁa% & FER F ¥ H R AT AT g? Question ID : 9864492437

Status : Not Answered

‘Who has been elected as the mayor of Mumbai in 20177
Chosen Option : --

Ans x & st
Smita Thackeray
, T UEd
Sanjay Raut
X3
Uddhav Thackeray

fregarer AgReayT

Vishwanath Mahadeshwar

x

W 4

Q.65ua;ﬂ=1ﬁ?1,?5:+ﬁ'{%1oa;ﬁha¢§|ugma?r§v%%1,?53ﬂ'{?1o
& fos aueT wewr & §, o 3fy 3 # 3o o= T 368 § A v F e A
Fer e Rt #7

A bag contains coins of denomination ¥ 1, ¥ 5 and ¥ 10. Assuming there are equal number

Question ID : 9864493947
Status : Not Answered

Chosen Option : --

of ¥ 1,3 5 and T 10 coins, what will the total number of coins in the bag be if the total
money is T 3687

ans X 1. 96
X 265
X 5. 56
v 69

Q.66 = 2018 ¥ wgF =T AN F wafteq Tl w=w s (vw.dnd) #7 Question 1D : 9864492425
i ) g..? uestion g

‘Which Indian-American is the chairman of the prestigious Federal Communications Status : Not Answered
Commission (FCC) of the United States as of March 20187 Chosen Option : --

Ans
x 1 HIE T
Neomi Rao



x o, | FAT

Seema Verma

o 9%

Ajit Pai

x4 e Tt
Neil Chatterjee

3
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Q.67

mmmaﬁmmgaﬁﬁﬁwmﬁ:mmm#m
T Frswd frer =T TeeaT B

FUA

IM, IIT 3 ISC 3F JHE Feae & frwel arer ol a1 gy # dsd st
AT § A8 S feEar &

fors=y:

1. 9 # Ffedt i gy # Faferal F 397 s oFae war A
2. 5 WEAE ¥ orEt F Ay J9 9r 3% w9 & FE e

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:

Students passing from premier institutions such as IIM, IIT and IISC get placed in foreign
countries and receive more salary than they received in India.

Conclusions:

1. Companies in India should pay the same salary as companies in foreign countries.
2. Students from these institutions should be barred from going to foreign countries.

Question ID : 9864493852
Status : Not Answered
Chosen Option : --

Ans x 1 3R 2 =1 e Fd &
Both 1 and 2 follow
«2;rr-|’r 1 3R 7 & 2 HeToor & §
Neither 1 nor 2 follows
o e T 1 IATEIOT T &
Only conclusion 1 follows
a FaeT frshy 2 TTEIT FAT §
Only conclusion 2 follows
Q68 i + i = 7 Question ID : 9864493002
5 A Status : Not Answered
% + 4 =9 Chosen Option : --
7
Ans 16
X1 3
13
« 2. 1£
8
x 3. E
8
X 4 o
Q.69

Question ID : 9864493932




Ans

afoms

>

T B

gt wlremat &
EC ol
arer oA

et $r

qE=T

28

23

e &

FHegeeoT A
it afveT
SedivT g arer
Tereanfea

|ET

14

12

T &
St afe
TF qfem F
HFeehoT gt
Trer faeanfiat

Hr g

17

At gfemait &
SedivT g arer
et $r

&

64

55
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Chosen Option : --

Status : Not Answered

&r o @O FET 10 F @ A Fur @ B & faewntdat wr fEwer geidr
# Torgia e sl qur ot sl & §

T B & gt qlemsit s qw afis) F ¥ A FA  F
et @ arer Rt s afgea 2l

Result

Secti
on A

Secti
on B

Total number of
students who
failed in both the
exams

28

23

Number of
students who
failed in the
midterm but
passed in the
final exam

12

Number of
students who
passed in the
midterm but
failed in the final
exam

17

Number of
students who
passed in both
the exams

64

55

The given table provides the details of the number of students in Class 10, Section A an

B, who had taken their midterm and final exams.

The pass percentage of those Section B students who passed in at least one of the two
exams (midterm and final) is

<1782
v 2785

<378
<479

Q.70 3myfess amae wROf S Sl wafw st wed g # wh T dee o

Ans

AH FATT

Name the noble gas which is placed in the third period and eighth group of the Modern

Periodic Table.

r 0

fifeTa

Helium

Question ID : 9864493434
Status : Answered
Chosen Option : 4
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. Krypton

N PEART 7 7 ¥ B By &1 93979 F1) Question ID : 9864494309

Status : Answered
Chosen Option : 1

0] o] o= ot ot

1 2 3 4 5
Select the odd figure out of the following series.

] o] o= o={] il

1 2 3 4 )
Ans x1_2
X25
v 4
x4

Q.72 ofg foh g 3T FI0T % FHAT F HF W @ A §, A O ghatET )
TET g Question ID : 9864493465

If an object is placed at the centre of curvature of a concave mirror, then the image Status : Answered
formed will be: Chosen Option : 3

Ans X1 e 3T o 3T &+
virtual and diminished

«2_amﬁ$3ﬂfrmmam

real and of the same size
. IIEaTas HIT 92 =T F
real and enlarged

4_3¢ramfr31‘lra?ma:r

virtual and enlarged

x

x

Q3 g XY wITFr A g A iR e I s Bea ¥ T ¥ &r .
> . . Question ID : 9864493972
SRT X % & AW s4ar &1 X e e & gaar &3 = 37
In the morning, X and Y walk towards each other in a park. When they meet, Y’s shadow B S e
falls towards the left side of X. In which direction was X facing? Chosen Option : --
as | FER
1.

North
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X 2
South

o @
East

gfessH
West

X4

Q74 Elﬁ?vlg? g 47 F g W =g %’7 Question ID : 9864492104

Status : Not Answered

On the banks of which river is Jabalpur situated? Chosen Option : -

Ans

x 1 BEER)
Chambal

Q.75 g3 T HE areir ° HHEr THere arelt g3 foroe Bt
m? 1:'3?? ) H§ 8 Eﬁ'cﬁﬁ,?ﬂﬁ?ﬂm ﬁé Question ID : 9864492474

N

) Status : Not Answered
If the hour hand of a clock moves by 18° then by how many degrees does the minute hand )
move during the same time? Chosen Option : --

Ans x 1. 168
X 2276

X 3.196
v 4216




